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&ERM; IN’PELLIGENCE & REASONING
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B 5 5
0 5 6
35 ? 5
S5 B4 ©6 (D7
9. o 24 51 67 |
2 4 4 6 .
.5. 7 \:«rs
53 2118 /‘g

(A) 135 (B] ‘?3& {i:’j 347 (D) 407

10. G is fater thmH bn’f'n-:u: as fat as M. Q is also
not as &t.ﬂ l'i:‘Whn is the most lean person in

lhﬂ"gmﬂ})f?
4 I{'“*}.'.‘-Q (B)y H () G D) M

13. A man walks 15 metres south, Then turning to
~ his right he walks 15 metres. Then' tuming to
his-left, he walks 10 meires. Again turns to his

(m} m - m) Fa L7 5 . :
{_C) Mﬂ@ ED} ]NS . i It‘:ﬁ. 3Ith Wﬂfks ‘15-111211'&5, H{)W f‘-’tl' Is hﬁ ﬁﬂm
4‘ ﬁ’Fﬂ CN D M E' i - : hm'lml{al position ?
{'B} o 'F' r (h__) 10 m (B) 25 m
- {"DJ &F o Y (C) 15 m - (D) 60m

12. I'hcmmﬁvcbusnsl‘d N, O,P, Qmamw on
a road. Bus M is siandmg at the front and.Q is
.standmghar, lhc back end: Bus: N‘s‘tands between

,M:mdﬂ BusPs,mmjs b¢tﬁregnﬁ-ﬂand€!
Which bus is in the middle ofthe. five ?

WM B P (©N D Q

Directions = In question nos. 13 to 15, from the

rmssmg numbe.r Emm the: gl:?e:ﬂ rpspunseﬁ | given a]temauvr: words, select the . word w“luch
g I R T e mﬂuorhefﬂnmd us:nguu:tcﬂcrs of lhn:gwcn word.
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-_(A] TE}URIST {B}‘ NDISE
':._:._{L’:} SGRCERER (lzg TENDER

16.

17.°1

18.

(A X

CGMREMLISM : i :
(A) CROME - ‘(B) LANCER
(C)- MISER - -fB} OSCAR

If EIIV[NE is- codéed as AFSFKB, then
POWERFLH_. is cﬂdtdas

HOIVIM -(B). MLTBPCRI

e e

{C} MLWBDCR] {D') HLTBN'EEI

1If ND"TE :s mﬂﬁl‘.l as. PQ‘\’G then. TIME is
wntten HE

(A) VQOG (B) VKOG

(C) VOKG (D) VGKO

H"SM is coded as UKCPY; then WONDER
is cﬂdéﬁl as: - -

(A) YMPPRT (B) YMPBGP

(C) YMPBFP (Dy YMBPPG

Directions : In question nos. 19 and 20, which of
the following interchange of signs would make the
given equation correct 7

19.

20:

21.

10 +-lﬂ_-.*.=.1-ﬂ_--— 8% 10=10 -

(A) +‘an‘i:|— ! (-B.}' +and =+
(€) +and % (D) +and+
A i T

{A) x, +, — By — =+ +

©F s, # ©) "+ % X

If ‘R' stands. for ’~_—’ SAY. stands for. '+, ‘B‘ .

stands:for ‘= and ‘C” stands. fo: 5" ﬂ]nﬂ what is
the value of the given equation:? [EE}E'MAS
rule will not be apphcahle}

25A37C2ZB4R1=
(A) 32 (B)-35 -(© 30 (D) 27

. Directions : In question nos. 22 to 27, select the

related ienmwmdfnuniber from the given alterna-

23 Chisel : Sculptor :: Harrow :

(A) Gardener (B) Masnn
(C) Blacksmith (D) Guard
23. Moon : Satellite :: Earth : 7 )
(A)- Sun (B) Planet

(C) Solar system (D) Rotnd
24. BICI: JBIC :: CXDW : ?

(A) ICDU (B) BCIU
(C) EVFU- (D) XCWD
25. AB:NO :=ILM:?
(A) OL (B) KP
(C) PK (D) YZ
26. AG:IO+EK:?
(A) LR (B) MS
(C) PV (D) SY

27. 25 :175 =32 : 2
(A) 150 (B) 170 (©) 162 (D) 160

Directions : In question nos. 28 to 33, select the one
which is different from the other three responses.

- 28. (A) Shimla (B) Darjeeling
(C) 001}_’ ' (D) Agra
29, (A) Foal : (B) Hen
(C) Lamb (D) Leveret
30. (A) BADC (B) XWZY .
(C) VUST _ (D) NMPO
31. (A) ‘DCFG (B) FEHI
L (© LM (D) HGIL
32:(A) (1,0 ®) %3
(€ (3, 8) (D) 4,27
33. (A) (96, 24) (B) (39,18)

(O @ 54) Dy (sz ﬁ4} o
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If +! sl‘.ands for ‘multiplication*—<’ stands for

i

'.‘dwlsmn e stands fl:-r subtr&’ctmn. * stands

- for. addumn and “x’'stands fur greater-than’.

35.

identify which expression is correct.

(A) 20-4+4+8<2x26

(B) 20x8+15<5+9~8

(€) 20<2+10+4-6x100

(D) 20<5+25=10-2%96

One day, Nita léft home and cycled 10 km

southwards, turned right and cycled 5 km_and
turned right and cycled’ 10 km and turned left

- and cycled 10 km. How many kilometres will

36.

she have to cycle to reach her home straight ?
(A) 10 km (B) 15 km
(C) 20 km (D) 25 km

Rajat moves from' his office to the canteen
straight at a distance of 12 metres. Then he
wrned left and walked for 2 metres. Then he
turns left again and walks-straight for 12 metres:
How far is he from his office ?

(A} 10 metres {B) 12 metres

(C) B metres (I} 2 metres

Directions : In- question nos. 37 and 38, twe/four
statements are given followed by two/four conclu-
sions 1, I, M and TV. You have to consider the
statements to- be true even if they scem to be at
variance from commonly known facts. You have to
décide which of the given conclusions, if any, follow

from-

37.

the given statements.

Statements  : 1. All apples are bananas.
' II. Al bananas are sweet.

Conclusions : L _Some applés dre sweel.

1. Some bananas are apples.
(A) Conclusion I follows.
(B) " Conclusion 11 follows.
(C) Either conclusion 1 or 1 follows.
(D) Both conclusions I and II follow.

38. Statements : 1. All metals are silver.
| 2. Allsilver are diamond.
3...Some diamonds are gold.
4. Some gold are marbles. 1
Conclusions : -L _Some gold ‘are metals.
Il. All metals are diamond.
II. Some silver are marble.
IV. "Some gold are silver.
(A) Only conclusion I follows.
(B) Only conclusion II follows.
(C). Only conclusion 111 follows:
(D) Only conclusion IV follows.
39. Which of the following cubes can be created
by folding the given figure ?

Question figure

[a

[F]
E
B
C

o]

Answer figures

o G (P P
(A) '(B}; (C) (D) -

40. Two positions of a dice are given. Which
number would be at the top when bottom is 2 ?

W@

@4 ®1 ©S5 ®F6

SPACE FOR ROUGH WORK
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41. Identify. the response figure frenm which the
+ . question figure’s pieces have been cut.

l.:)l_:.t:sﬁqﬁ figure .

N
=

Answer figures

In the above figure, the circle stands for
employed, the square stands for social worker,
the trangle stands for illiterate and the

-tectangle stands for truthful. Employed, truth- .

ful and illiterate social workers are indicated
by which region ?

(A) 5 (B) 4 © 2 M1

43. Find the missing number.

. 3 ' 6 20, ein,
@ Gy D
- 3 - 9

(A) 37 (B) 45 (C) 471 (D) 57
44_ N -
13
j L]
AR T &
> N

In the above diagram, parallelogram represents
women, triangle represent the sub-inspectors of
police and circle represents the graduates..
Which numbered area represents women
gradvate sub-inspectors of police ?

(A) 5 B 3 (@© 8 (D) I3
Directions : In question nos. 45 and 46, which
answer figure will complete the pattern in. the
question figure ? :

45. Question figure

&

.

Answer figures

ol Bl ®|| B

(A) (B) (C) (D)

SPACE FOR'‘ROUGH WORK
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46. Question figure g

'}Answerthgﬁ_ﬁﬂ"s : = ’
n F/” | 4 || W
(a) © . -®

From-the given answer figures, select the one
in which the question figure is hidden/
cmbeddtd

Question figure

-k

Answ&r ffgun:s
(C)

l’

(A) (B)

A piece of paper is folded and pu,nchc:d as
shown below in the question figures, From the
given answer figures, indicate how it will
appear: when opened.

Question: th_n_':s

__ 49,

‘Which of the answer figures is exactly the

mirror image of the given pattern of numbers
when the mirror is held at MN ?

Qﬁqst_ion figure M
246
35
7

Answer figures

4 2 o h - v

d b ¢ 6

z 3 53 2 E 2k
7 7 | v a b ¢
(A) (B) (C) (D)

. A word is represented by only one set of

numbers as given in any one of the alternatives.
The sets of numbers given in the alternatives
are represented by two classes of alphabets as
in two matrices given below. The columns and
rows of Matrix [ are numbered from 0 to 4 and

sthat of Matrix. II are numbered from 5 p.‘:- 9.

A letter from these matrices can be rcpresentcd
first by its row and next by its column, e.g., ‘B’
can be represented by 01, 31 etc. and ‘P’ can
be represented by 67, 75 etc. Similarly, you
have to identify the set for the word "CARD’.

MATRIX 1 MATRIX II
oL r:"-.t-%.,.‘ i?ﬂ&%}‘?—: 9
olalEfefplE] siPTorEEs|T
Hpjc)e |alE slolstefr|T}
ripjAaln|ClE L S o )
DB |ClAE BlQ)s | FiR|T]
sjCiDinE|B siT|els|alr

(A) 32, 00, 56, 10
(C). 11, 33, 57, 22

(B) 40, 21, 68, 44
(D) 02, 42, 77, 20

SPACE FOR ROUGH WORK
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57.

38.

59.

60,

61.
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Who established the Indian Civil Liberties Unionin
LT A T =
(A)- -Subhash Chandra Bose

(B)- . Bl Gangadhar Tilak

(C) Jawahar Lal Nehru

(D), Rajendra Prasad

Which of the following was established first ?

(A) - Banaras Hindu University

(B) University of Bombay

L, ERTNE

(C) " Aligarh Muslim University

(D) University of Alinhiit_:ad

"‘Yos?cﬁlil;g" isa
(A) - Riyer (B) Peak
(€ -‘Fgﬁﬁa[l (D) Dam
. The first Indian Satellite Aryabbatta was launched
in
(A) 1972 (BY 1975
(C)y 1977 (D) 1979

Where is the shore based steel plant located 7

(A) Tuticorin (B) Salem

(C) Vishakhapatnam (D) Mangalore

Which two of the following are connected by the
Nerth Seuthcomridor ?

(A) Srinagar and Kanyakumari

(B)- -Mumbai and Chennai

(C) " Amritsar and Kolkata

(D). Hyderabad and Bhopal

The pollutants  which move downward with
percolating groundwater are called

(A) Lﬁi’-}h%_',\ﬁ (B) Pollutates

- (C) Eathites’ (D) Percolates
H A k) N

Lungsaargiloeated fivthe: "

) SNl caviiy (B) pericardiakaviy
(C) peritoneal cavity (D) pleurakeavity
Whlch,ﬁrﬁabﬁh: Hollowing is the'ideal food for
newbomibabies 7

(A) Water (B) Sugar

{C) Honey. (D) Milk
Transeription means the synthesis of

{A) Lipids. (B) Protein

(C) DNA (D) RNA
Hydrochloricacid-is-secreted by the-cells lining the
(A) Oralcavity (B) Stomach

(C) Teum (D) Colon

Emulsificationis—

(A) breaking fats into small globules
(B) digestion of fats

(C) absorption of fats

(D) storageof fats

Taxonomy isa science that deals with
(A). Morphology (B) Anatomy

(C) Classification _ (D) Economic uses

Downloaded From

64.

65.

07,

6Y.

70.

71.

T2

T3.

74.

15,

GENERAL AWARENESS

Which one of the following is responsip]e for the
working of Newton's colour disc experiment 2

(A) Formation of pure spectra

(B) Formation of impure spectra

(C) Persistence of vision '

(D) Principle of complementary cojoy,

The dimension MLT~2 corresponds (o
{A} force {B} work done
(C) acceleration (D velocity
Who is the founder of guantum the,,
tion 7

(A) Einstein (B) Boly
(C) Plank (D) 8 M oo

Fiber optics cable used in communicarion. works
on the principle of ¥

(A) regular reflection of hight

(B) diffusec reflection of light

(C) .refraction of light

(D) total internal reflection of lighy

Which was the first elecironic compy, i
ted at the Moore School of Engingtﬂ';g r?cnnstruc
(A) EOVAC (B) ONIvaC

(C) ENIAC (D) EDsac

Which among the following standyrg ols i
the most widely used by the Interne 9 Ripiosata s
{A) HTTP TCp/1p

(C) ' SMTP (D) SLIp

The outer skin most of the crustacey
of a carbohydrate. This carbohydey,
(A) cellulose " (B) galactose

(C) chitin Starch
Rutherford's scatlering experimien; proved the
presence of ) .
(A) atoms in all maiter (B) electiong indtoms
(C) neutrons in atoms (D) nucleysin atoms
When a metal is heated in a flame,
absorb energy and jump 10 higher o
coming back to the lower energy
light, which we can observe in

(A) Raman spectra (B) ' Absorption spectra
() Emissionspectra (D) ﬂum?;mnmm

Blood pressure may be increaseq by the excessive

ry of radia-

ns are made up
<8

the electrons
nergy state, On
state, they emil

=PeTie
secretion of

(A) Thyroxine (B) Tesios
(C) Estradiol : (I trol i
The concept of “Green House Gaeps” was

postulated by

{(A) Joseph Funer (B} Abdul Kalam

(C) M™.S.Swaminathan (D) Rickisel Carlsor
“Bhopal gas tragedy™ 1984 is relqieq 1o

(A) Aluminium Phosphide

(B) Methyl bromide

{C) Methyl isocyanate

(D} Carbon dioxide

. http://www.sscportal.in
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76. The. Particulate Matter (PM-10) .P.Ihaled from the -
'_'ﬂuicﬁ amm@phe:c IS uﬁcn rIr.emd out during the

) o ‘;ﬁﬁ!ﬁﬁs By SRS
S J"Fﬂfl_‘id‘!B LMYy Urn‘mtmn
?_?".'é"'_?:fnrﬂ crane 1§ The 5htwb:fqnf s S
(A fEsa;asman @) Uuarﬁadcsh

ATy :.M“‘adiijg?mda:sh (D) - West'Bengal
78. The Tﬂi‘ig&’l‘]ﬂ volcano erupted on Ncwembﬁr 21,

Zl}lﬂflﬁrfne

(A) AHS»H‘&]]& -(B) Indonesia

(C). Eap,ug HﬁWGum&a (D) New Zealand
79. The E?aﬁﬂmng Yading Airport is:locaied in

(AY “Thailand (B) Ph;hppmas

(C) China (D) Tibet.
$0. BCCI namied the “Indian Cricketer of the year

2011212" to-honour

(A) Sunil Gavaskar (B) VVS Laxman
(C) Virat Kohh () Yuva Raj

81. “Martyr’s Day™ is marked on
{A) January | (B) January 15
(C)' January 30 (D) January 9

82. Who won the World Carrom Championship 2012 ?
(A) Rashmi Kumari
(B) Mirabai Chanu
(C) Nishantha Fernando
(D) Nuthaki Priyanka ,
83. The animal who can consume more salt among the

following is
U’Q Shﬁ‘-p, _ (B) Camel
(C) Donkey (D) Dog

84. Which ofthe following is only domestic Adrport ?
; {A] Dnbﬂhn Alrpart Goa

' AR

(C) Di:'?l Aﬁtly'lbm Holkar Airport

(D) Nnnc of Ihc. ahn'ﬂ:

85. T'ck gic mrrc:c‘.t nptmn wnh regards 10 the con-
mbuu-:rii towards’ GDP (Gross Domestic Product)

from .B:gnculrura
" (A) During 1950:51 (GDP 51-88%) and 2011-12
(GDP:14-01%)" -
(B) During 1950-51 [GDP 11-00%) and 2011-12
- {GDP.25%)..
(C) .During.1990:91 (GDP 29- 53%] it 2011-12
(GDP 66:77%).
(D) During 1980-81 (GDP 35 6,9%} am:l 2011- 12
fGDP‘Zﬂ 69%)
86, Second India-Africa Forum Summit-2011 was held
in
(A) Eretrea ' {B) Ethiopia
(C) Sudan- () Migena
7. Where did Aurangzeb die ?
(A) Pune {B) Aurangabad
(C} Ahmad Nagar (I Mumbar

88.

20.

1.

93.

94.

95.

96.

- 98.

99.

104}

"(C) Hypethesis

.{A) Mahayana (B)

The principle of maximum social advantage is the.

basic pnnmpie of

(A) Micro.Economics
(B) Macro Economics
(C) Fiscal Economics
{D} Eri'i-fimﬁmﬂ:mal Economics

Whlch anf: Year Plan is _not correct among the
following ?

(A) - First 1951-56 (B): - Second 1956-6]
(C) Third 1961-66 '('D) Fourth 1966-71

The ordinary and maximum tolerance I:mu of
sound by human being is

(A) 50dbto 70 db {dﬂ:lb-cl}

(B) 60db to 80 db (decibel)

(C) 65dbto75db (decibel)

(D) - 70:db to 85 db (decibel)

An cconomic theory is afan
(A) Axion (B) Proposition
{D} 'lc:sl:f:d hypothesis

Indian Special Economic Rules :&rm::ndm::nt came
in the: }r::ar

(A) 2000 (BY 2002

(C) 2004 " (D) 2006

Provisions of citizenship in Indian Consiitution,
became applicable in

(A) 1950 (B) 1949
(€) 1951 (D) 1952
Who gave the title of “Sardar” to Ballabh Bhai

Patel 7 .
(A) Mahatma Gandhi (B) Vinoba Bhave
(C) Women of Bardoli {D} Peasants of Gujrat

-According:to Marx, the source of value is

(A) Capital
(C) Labour

(B) Land :
{E : -Nc}ne. of the above

“Fhe Nat.j-ana] Emergency; Gl ia declared b}r the

President uf India-due. 1o th
armed revolt thmugh T
(A) Aﬂle']evﬂlﬁz (B) %&6
(C) Artiele-360 (D) Arfti

The Community- Pevelopment ngrarnmL was

;f:xtf:mal a ugre:;smn or

launched i ﬂ\f: year ; e
(A) 19507 .0 (B) 1952 .
(C) 1951 (D) 1953

What Satyagraha.was held at Nagpur in 1923 ?
(A} SaltSatyagraha-

(B) Individual-Satyagraha

(C)" Ryots Satyagraha

(D) Flag Satyagraha

Which one of the fellowing is mor—a—sect of
Buddhism ?
Hinayana

(C) Digambar (D) Theravad

Who was the viceroy when Delhi became -the
capital of British India ? s

(A) Lord Curzon (B) Lord Minto

(C) Lord Hardinge (D) Lord Wavell
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PART C &

'l{ll '['hc ‘,mub t:-f mpmhly mcumcs uf A, Bis 6:5
thei -mpnth}y enpend' mmﬁ arc in_the ratio -

i .»eésh ‘of ‘them saves ¥ 400 per month,

mgﬂiﬁmmﬂfﬂhly incomes:

e _-_‘-";:."4110

5 have tugerher Lhreénm*whal Band C

lﬁ?ﬂi"ﬁ]ﬁ!'eﬁ ‘B, C oge
mmwtli‘ﬁ&matufﬂ If

'hag 5 times that of C,

then A has. _
) T “(B) T 65
(©) %75 @) T45

103. A cnnk,et player after }ilaygng 10 tests scored
100 fmjs?"tﬁ the 11th test. As a result, the
a:ireragE ‘of his runs is increased by 5. The
present average of runs is
(A) 45 (B) 40 (C) 50 (D) 55

104. A fruit-seller buys some oranges at the rate of

4 for T 10 and an equal number mere at 5 for

% 10: Hessells the whole lot at9-for T 20:5What
is-his loss or gain per cent 7
(A) Loss-per cent 143 %

(B) Gain per cent l,—'!%%
(C) No loss or no_profit
(D) Loss. per cent 2% .

105, 15 im of a_mixture comains alcohol and
waler in- ﬂwma 1 4.°1f 3 litres of water. is
mlegff in“it, ‘the’ pércentage of alcﬂhul in the
neIf.r ﬁ’ﬁxmrc will be AT

{A} 15"
© 1

(B)” l'ﬁi
(D} JE-’-- |

106. A man: tides at. the rate of tS km,-"hr but Stops.

for 6 mins. o changa horses al. 'I]'IB end of every
7th k. The time that he will. take to cover a
" distance of 90 km is
(A) 6 hrs.

(C) 6-his. 18 -min.

(B) 6 hrs. 12 min.
(D) 6 hrs. 24 min.

ﬁ‘ave: thirty rupees -

QUANTITATIVE APTI’I‘UDE

107. A man rows down a river 15 Im] n 3hrs with
the stream and returns in 'J'] hrs. Thﬂ rate at
; wh:ch he- rows in still water s ROC :
_{A} 2:5 km/hr . (B) 1-5 kmfhr
(©) 3*5 km/hr (D) 45 km/hr-_,

108. There is 100% i increase 10-an -’;.muun! in8 ‘years,
at samplc interest. Find tha‘: compﬁqnd' interest of
= 8000 afiter 2 years at the same gat& ofinterest.
(A) T 2500 “(B) T mﬁy
() T 2250 (D) 22125 °

109. If the number A is 5. more than ¢ and the sum
of the-squares:0f jp and g48 55, thcn«-iﬁn;j;mdnct

of p and g is

(A) 10 (B) -10

9 & (D) =15 . .ozh y
11"- ];f ﬂ+ _—_-4‘ Ihﬂl’l [hﬂ. vﬂuﬂ.‘ -DEI v s

a—1 |
1 r
e ZJ +(n 2] S
(A) 0. (B) 2 A€) 2 () 4

1M1, fa+b+c= Zs,thf:n
(s—a)* l-l_'m-b} +{.r ¢)? +5°

bz “]"C ;..‘;-_.
(A) a2+b?+c [B} 0 -
W (o {DJ 2
112. If xy (x +y] =1 then the va]ue af
1 3 i ..L
xﬂ}n}"x _:"- vh AR
A 3 @ 3 (© 1" (D) -1
13. f - P -S = ﬂﬂ'r{:nihﬂ\'all.lﬂ-of
a? b7 2 e? _323p33 s
@2 ©0 (@ 4

(A) 1
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) .(ﬂ,‘.l,-
5.

116.

. 117.

118.

119.
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The :mmmum value of ( X =2)(x )
is
@ - LpCB) 39
A 4_
(D)
Ifx+}r+z-6 and- .:2+ 2
vn]ue of 13+_}’3+7.3 3.1};'2:1:2 e the
{A.J 54 A(B) ?ﬁ (C) <73 {D] 76
The t]'jml pmpomuna] to
.[—4-—-,) and ‘!_\_
(A) xy (13} ey
©) 3y D) 5
In. a wmangle ABC, the side
B
up to D. Such that CD =AC, it Eé:; ;x[er:g;t:
and ZACB = 72° then the value of ~ ABC
{AJ 35° {B:} E,[}D i5
(C) 407 - (D) 45°
Two circles touch each o, .
radii are 2 em and 3 cmy Ti:: |I':;l:::“}rh Tju;
the greater circle which i5.i6k chord @
circle is of length side the inner
m
(C) 243 cm (D) . 4421 £
ABCD:s a cyelic quadrilatery). An amd 2
pmduch to meet at p. f '*’-':ADCE D.-_. are
£DAB =60, then the ~ppc + .:SPCB?H -
(A) . 130° ®) 1500
()= 1537 (D) 180°
From a point P which js at

120.

_ same plane, a pair of tangem
“drawn to the -circle,

a'distance of 13.cm
radiys §- cm, in the
S PO and PR are
Area “f ﬁquaﬂnlatcral

from centre © of a circle of

P@t’)_ﬂ is
(€) 30 em? ) '_f:nﬂr_.;mz B

121.

122.

123.

124.

125.

ABCD is a cyclic trapezium with AE I DC and

" AB diameter of the circle. I_f &fjﬂ"lﬂ_;: 30° then

ZADC is
(A) 60° (B) 120°
(C) 150° (D) 30°

ABC is a triangle. The bisectors of the-internal
angle .ﬁH and external angle £C mb&sm at I

If ZBDC =50°, then £A'IS

(A) 1007 (B) 902

(C 120° (D) 60°

AB'is the chord of a circle with cenire © and
DOCis'a line segment originating.fram a point
D on the circle and intersecting: AB: produeed
at C such that BC = OD- If ZBCD =20°, then

(A) 20° %
(C) 40°

®) 30°
(D) 607

In a circle of radius 17 cm, 1wo paraliel chords
of lengths 30 cm and 16 cm are drawn. If both
the chords are on the same side of the centre,

then the distance between the chords is
(&) 9em (B} Tem

(C) 23 cm (D) 11 cm

If sin(A—B)= 'iz' and cos(A+B)=1 where
A>B>0and A + Bis an acule :mg-lc, then the
value B is

. i £
(A) < B) 13

7 A
© 3 @) 3
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127.

128.

129.

130.

131.

Ay 5
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The fifth termy of the sequence~for 'whiu:_h
h=Lip=2and 5= t4 8, i
®) 10

If {x+?954>¢’?95+5} be a squarn number, then
the value of ‘x' iz

(A) 1 (B) 16

(C) 6 (D) 8§ -

(© 9 (D) 4

A can do a piece of work in 12 days while B
alone ‘can do it in 15 days. With the help of C
they can finish it in 5 days: If they are paid
T 960 for the whole work how much money
A gets ?

(A) T 480
(C) T 320

(B) ¥ 240
(D) T 400

Ronald and Elan are working on an Assignment.
Ronald takes 6 hours to type 32 pages on a
computer, while Elan takes 5 hours to type
40 pages. How much time will they take,
working together on two different computers
to type an assignment of 110 pages ?

(A) 7T hrs. 30 min. (B) 8 hrs.

(C) 8 hrs. 15 min. (D) 8 hrs. 25 min.

One ‘man, 3 women and 4 boys can do a piece
of work in 96 hours, 2 men and 8 boys can do
it in 80 hours, 2 men and 3 women can do it in
120 hours. 5 men and 12 boys can do it in

(A) 394 hours (B) 42% hours -
(C) 437 hours (D) 44 hours

ABC is a right angled triangle, B being the right
angle. Mid-points of BC and AC are respec-
tively B’ and A’. The ratio of the area of the
quadrilateral AA* B’B to the area of the mungle
ABC is

{A) 1:2
(C) 3:4

(B) 2:3
(D) None of the above

132.

133.

134.

136.

137.

http://www.sscportal.in

A square ABCD is inscribed in a circle of unit
radius. Semicircles are described on each side
as a diametér. The area of the region bounded
by the four semicircles and the circle is

(A) 1 sq. unit (B) 2 sq. unit

(C) 1-5 sq. unir (D) 25 sq. unit

If the perimeters of a rectangle and a square are

equal and the ratio of two adjacent sides of the
rectangle is 1 : 2 then the ratio of area of the

rectangle and that of the square is

(A) 11
€ 2:3

(BY %2

(D) 8:9

The interest on a certain sum of money is ¥ 22
and the discount on the same sum for the same
time and at the same rate is ¥ 20, find the sum.
(A) T 220 (B) T 200

(C) <210 (D) <T 212

135-A retailer purchased radiosets at the rate of

Z 400 each from a wholesaler. He raised the
price by 30% and then allowed a discount of
&% on each set. His profit will be

(A) 19% (B) 78:4%

(C) 22% (D) 19-6%

A reduction in the price of apples enables a
person to purchase 3 apples for T 1 instead of

T 1-25. What is the % of rt:dluctiun in price

(approximately) ?

(A) 20 (B) 25
(Cy 30 (D) 33-_%
T 700 is divided among A, B, C in such a

way that the ratio of the amounts of A and B
15 2: 3 and that of B and C is 4 : 5. Find the

amounts in ¥ each received, in the order

A, B, C.
(A) 150, 250, 300 (B) 160, 240, 300
(C) 150, 250, 290 (D) 240, 310

150,

SPACE FOR ROUGH WORK
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A horse is. und lurapustby aTope. If the horse
Moves a.'lung a circular patlv always keeping the

A mpe streichod nnc[d:w:nbcs 88 metres when it
: 'h-ﬁ;fé@jm; 72° at the centre the length of the

139,

144).

141.

142.

143.

ropéis (Take.s = 2)

(A) 70 m B) 75 m

(C) 80 m (D) 65 m
h;axinu;m,vélue of (2sin0 + -_3«c.osE}} is*
A2 ® V3 © 5 O 1
The value of

152 (sin 30° + 2cos? 45° + 3sin 30° + 4cos? 45°
+ ... 4 17sin 30° + 18 cos?® 45°%) is

{A) an integer but not a perfect square

(B) ' a rational number but not an integer

(C) a perfect square of an integer

D) irrational

If (1 +sina)(]1 +sinf)1 +siny) =

(1 =sina)(1 - sinfi )}(} - siny ), then

each side is equal o

(A) *cosacosficosy (B) Esinasinfsiny
(C) #*sinacosficosy (D) *sinasinficosy
One of the four-angles of a rthombus is 60°.

If the length of each side of the rhombus is,
8 ¢m, then the length of the longer diagonal is

(A) 8J3 em (B) 8 cm
8
(C) 43 em (D) 7 om

If the arcs of square length in two circles
subtend angles of 60° and 75 at their centres
the ratio of their radii is

(A) 3:4 (B) 4:5

(C) 5:4 D) 3:5

144.

8

Production of food grain

2005 2006 2007 2008 2009
Year —>

Study the above bar graph showing the
production of food grains (in million tons).
What is the ratio between ‘the maximum
production and the minimum production during
the given period ?
(A) ™2

(€Y% 4

(B) 2:3
() 5:2

Study the following Histogram and answer following
question nos. 145 to 149,

145.

146.

147.

T 1]
[l
3
g 5
5 oa
= 3
g 17
- |
OF10 20 30 40 s0
Marks —= .
The total number of students involved in the
data is :
(A) 33 (B) 32 (C) 43 (D) 42
The maximum number of students got the
marks in '-h'?. interval of
(A) 10-20 (B) 20-30
(C)- 30-40 (D) 40-50
The least number of students got the marks in
the interval
(A) 40-50 (B 20-30
(C) 10-20 (D) 0-
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n mdhyma

and architect’s
- (A) 10000 (B). T9500
©) 27200 (D) Z9600

In a cemain country, allocations to various
sectors of the yearly budget per T 1000 crores
are represented by this pie-diagram. The
expenditure (in ) on Agriculture is

(A) 250 crores (B) 150 crores

(C) 300 crores I Zﬂﬂ.:crofes

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

144. A teader sells two computers at 1he same price.

On ‘one-héimakes a profit of 15% dnd on the’
ﬂthﬂ*hﬁﬂffﬂs a loss of 15%. Find his gain or
loss per cent.

(A) Loss 2-25% 'fB} Gain 2%

(C) No loss.no gain (D) Loss 2%

Two trains of equal-length running in opposite
directions, pass a student standing by the side
of railway line in I8 sec and 12 sec respec-
tively. The time that the two trains will takc to
, cross each. other, is
(A) T-2-see

(C) 10-8 sec

(B). 96 sec.
(D) 14:4 scc

" 146,

147,

148.

149,

150,

A father’s age was five times his son’s age five
years ago and will be three times the son's age
after.two years. The ratio of the present age of
the father to that of the son is -

(A) 33:5 (B) 11:5
(C) 3:1 (D) 10:3

A retailer buys a sewing machine a1 a discount
of 15% and sells it for T 1955. Thus he makes
a profit of 15%. The discount is

(A) T270 (B) = 290

(C) = 300 (D) T 330

A number N is divisible by 6 but not-divisible
by 4. Which of the following will not be an
integer ?

N N
(A) S (B) >
N N
(C) 3 (D) 1

In a football tournament there are 50 teams.
Each team plays with every other team- eﬁcﬂ}r
once. How many matches will have to be
organised ? °
(A) 1025

(C) 1026

®) 1225
(D) 1226

A leak can empty a full tank in 12 minutes, If
the leak is absent, two pipes A and B can fill the
tank separately in' 15 minutes and 20 minutes
respectively. If the leak is active and both the
pipes are open, then the tank will be filled in

(A) 30 minutes (B)Y 60 minutes
I;C'} 23 minutes (D) 35 minutes
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(D). insani

(B)  transparent

. : ..--.{ﬁ}l-l' -\.h{u.ﬁ[_ 0 5
153. inadvertently

(A) saeraﬂar (B)  accidentally

(€ completely (D) deliberately

D:rec.tmns : In question nos. 154 to 158, four alter-
natives are given-for the Idmm.i’-Phrasc underlined in
the sentence. Choose ‘the a]t;_m_z_n?wn: which best
expresses the mﬁaﬁi'ng- of the Tdiom/Phrase and-mark
it in the Answer Sheet.
154. What egged you on to become a social worker ?
(A) urged (B} dampened
(C) hindered (D) discouraged

155, Many politicians in India are not fit to h@ld i
candle to Mahatma. Ganrlhz P i
{A) superior ._,..EE;a Egg:ﬂ_._
I[C]l inferior ) indiﬁ'é:mnl
156. She must be. pa}rmg thmugh tha nose for the
- faceJeft
M pa:,rmg less . Lhan _pecessary
(B) payn}g lm mrueh
-{€) p’&jrmgﬁ'ﬂt& nght amount
(D) Paafmg:reluctmﬂy

157. He is prftmg the cart before the horse by
pumhasmgvmmmm befm;e Enuymg ahouse.
(A) dnqg a, ﬂnng in the wrong way
(E} doing a Lﬁmg in the nght way

g

(D) doing. lhmgs meuculous]y
158. Cajstmg_p_ea;]s before. swine.

(A) . speaking nice words and convincing them

(B) offening good
people

(C) uplifting the needy for their welfare

(D) doing worthwhile things to unknown
people

things to undeserving

Downloaded From http //www sscportal In

D:rcc!mns In question nos. 159 to 168, a 5cntcnc¢f

| “part -of the sentence is underlined. Below are given
| lternatives to the underlined sentence/part of the
~-sentence:at.(A); (B) and (C) which may improve the
: _..mntence. Choose. the correct alternative. In case no
improvement Is needed, your answer is (D).

159. It became clear that the strangers were heading

into a serious disaster.

_,{A}-—a]ong ~ (B) towards

(C) on~ " (Dy No improvement
160. Twenty kms are not a great distance in these

days ‘of fast moving vehicles.

(A) is not a great distance

(B} are not4o00 great a distande

__[C) aren’t proving a great distance
" (D) No improvement
161. 1 adapled a new methed to solve the problem.
- (A) I have been-adopted

(B) Fadopted

(C) 1 was adapted

(D) No mmprovement
162. Hoping not to be disturbed, 1 sat down in my
easy chair to read the book, 1 won as a prize.
(A) I'had-won as a prize
(B) I have won as prize
(C) I had:to-win as a prize
(D) Ne improvement

163. If you are living near a market place you should
be. ready , to. bear bem: the disturbances caused by
traffic.

(A) to bear upon
(C) 1o béar away

164. The more they eamn, more they spend on luxury
items. :
(A) more me_',r shuuld spend
(B) the: more they spend
(C). the more they. ought to spend -
(E'} N&-tmpmvenmm

(B} to bear with _
(D) No improvement

.. 165. You have come- here with a view to insult me.

“(A) to msw'lhng me (B) of insulting me
(C) for insulting me (D) No improvement

166. A litle rail-road engine was employed by a
station yard for doing small pieces of work.
(A) was made by a station yard
(B) wﬁs used at the station: yard
(C) was employed at the station yﬂ.rd
(D). No improvement
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i
-'\.

' 16'? mer,nn ne:sthcuc pc-ml of :»iew, the painting

-:P_FJEEE.Q I!mf} prcal tu Iﬂl—

[ T

_ (D} 'ﬁu unpmvamem
163;. 'I]'Il‘..‘:. l:ha]d tﬁﬂﬁd in bed burning with fever. .

(A} TheL cilnld in bed, bumning with fever
tussed

(B) ’lhe c:hl]-:t burning with: fever, tossed
bt‘.d L B o ; ;

(C) The child ]_:-'urnjng in bed tossed with fever

(D) Mo improvement

Directions : In question nos. 169 to 175, out of the
four alternatives, choose the one which can be substi-
tuted: for the-given words/sentence and indicate it by
blackening_the appropriate oval [@] in the Answer
Sheet.

169. -An.apartment building in which each apartmeny
15 owned Scpamtc.ly by the people living in it
but also containing shared areas.

(A) condominium By mu]u[;:-le:-;

(C) dup'lf.-x (D) caravan
170. A gruup of three powerful ;mp!e,
{A) 1 (B) tritium

“.t-'(l{ffp' mvet (D} lnurnwran.,
1"-’1 @pu,rauun of the body: after ‘death.

A pusvnmnem (B) ulmu:ary
(EZ} hamagi: (D} mortuary
1'?2 Hm a.ll'qhmng, the passage of light.
. A) obligue (B) - opague
(@) optigue (D) - opulant
IT3 Science regarding ‘principles of classification.
(A) taxidermy . {B). .1axonomy.

() toxicology rfD} cassmulugy

174;- ﬁ”pollucaj*tﬁadti‘ appealmg .tﬁ“ bﬁgular desires
—=and pmJudlces
(A) dictator

(C) populanist

175. Enclosed in a small c]osad spacc
(A) closophobia [B] clustr,:mphabm
(C) claustrophobia (D) Irfu_:-phubl:l

(B} tyrant
{D.}"' dfﬁi"ntlgﬂgm‘:

Directions : In question nos. 176 _and 177, four
words are given in each question, out of which only
one word is correctly spell. Find the correctly- spelt
word and mark your answer in the Answer Sheet.

176. (A) conivance (B) connivanse
(C) connivance () conivence
177. (A) - mamntennance. (B) manteinance

(C) maintenance (D) mentenance

Directions : In question nos. 178 10 187, you have
a passage with 10 questions. Read the passage
carefully and choose the best -answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval [@] in the Answer
Sheet.
PASSAGE
CYBER BOGEYS

The cyber-world is ultimately ungovernable.
This is alarming as well as convenient; sometimes
convenienl because alarming. Some Indian politi-
cians use this to great advantage. When there is an
obvious failure in governance during a crisis they
deflect. attention frem their own incompetence
towards the ungovernable. So, having failed to
prevent nervous citizens from fleeing their cities of
work by assuring them of proper protection, suinc
national leaders are now busy trying to prove to one
another, and to panic-prone Indians, that a mischie-
vous neighbour has been using the internet and
social networking sites to spread dangerous rumours.
And the Centre's automatic reaction is to start
blocking these sites and begin elaborate and poten-
tially endless negotiations with Google, Twitter and
Facebook about access to information. If this is the
official idea of prompt action at a time of crisis
among communities, then Indians have more reason
to fear. their protectors than the nebulous mischief-
makers of the cyber-world. Wasting time gathering
proof, blocking vaguely suspicious wcbsttes hurling
accusations across the border and worrying about.

_ b:l:ltuai reIalmns are ways of k&epmg busy with

|-'u-|.|'\..._.-- [rui

o dn a‘bout the essentials of a difficult situation.

B_Ls:dcg,_cniy a fifth of the 245 websites blocked by-
the Centre mention the people of the Northeast or the
violence in Assam. And if a few morphed images
and:spurious texts can unsettle an entire nation, then
there is something deeply wrong with the nation and
with-how it is being governed. This is what its
leaders -should be addressing immediately, rather
than making a wrongheaded display of their powers
of censorship.
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I!r 15 just; 85 - -absurd, andpart B the same
‘,‘Aﬁl‘u‘y“qh' Twitter accounts that parody

Pi:“f]ﬁ--ﬂﬁﬂlsttrs ‘Office. To

4 et

ibe '-.\li’E]'lﬂ"-an}ls‘iﬁf ‘humour _and dissent as
- asf Twitterers would

PQI,E}W— E,G'IJ‘H& PMG lonk more ridiculous than
its' pﬂrtitiﬁ!s manage to. With the pwcedﬂnt for-such
action.  set- recently: by the chief minister of West
B-,Qngiﬂ;tﬂus 15 jyet another proof that what Bengal
rlunh:‘{ﬂﬂ;phﬂm will -think tomorrow. Using the
cyber-world for fléxing the ‘wrong muscles is
essentially not funny. Tt:might even prove to be quite
dangerously distracting.

178.

179.

180.

181

(D)

@)

According 1o the passage, the cyber-world is
(A) “beyond the imagination of people

(B) outside the purview of common people
(C) not to.be governed

(D) un-gﬂjr_}émablt

The
(A)

author is of the opinion that
the centre should start negotiations with
Google, Twitter and Facebook
thj; ﬁ_:'ml:m should help the
. evaciiate their city
ﬂi}:'éi:nh'e--shnuld not block the sites
the céntre. should arrest the guilty

(B) citizens
(8]
(D)

Whlch of . the - fﬂlluwmg 1s. closest to the
.me:anmg,,of inebulous’ 7

(A) cﬁ"'ﬁ;sed (B) vague A
(C) mdﬂsccm (D) 'glbwing'

Thie. aut!iprfx mnuusness regarding the sita-

tion’ can__best be “described: in the following

-aentenm -I!}ck itha odd .one out.

i rs.shtmld display thieir powers of
3 cnnsars}up when needed

(B)" If“ﬂii‘s‘ "s’th’h -::‘I’f'c‘i'a! idea” ﬂl‘pmmpt ar:tic:n

| then Indmns ‘have ‘more reason 1o fear
thr.‘u pmtecmrs than the nebulous
ﬂmh:efamker of the cyhe.r-—world

The politicians deflect attention from their
own incompetence

If a' few morphed images and spurious
texts can uns_é"ﬂjé' an’ entire nation, then
there is something deeply wrong with the
nation

(C)

182.

183.

184.

185.

186.

187.

The ' word ‘spurious’ means .
(B) authentic
(D}_ fake

The author-warmns us against.
(A) not playing false with'the q:iti;ans
(B)

(A) _gf.nuinc
(C) substantial

dangers inherent in the cyﬁcr~wnﬂd

(C) not using the cyber-world judiciously

(D) not protecting the citizens from dangerous
politicians

‘Parody’ means

(A) twist (B) jeopardize

(C) ndicule (D) immitate

Whalli:\- the opposite of ‘wrong headed’ ?

(A) silly

(B) sane

(€} insane

(D) insensible

The passage suggests different ways of keeping
the public busy with ‘inessentials’. Pick the odd
one oul.

(A) By blocking websites which are vaguely
suspicious

(B) By blaming neighbouring countries across
the border

(C) By tuming the-attention of the people-to
vidlence in-Assam _ 3

(D) By petting involved in a discourse on

bilateral relations

The following is a list of statements made by
the author of the above passage. Pick the odd
one out.

(A) It is absurd to ban Twitler accounts that
parody despatches from the - Prime
Minister’s’ Office:

Twitterers take these parodies for genuine
despatches from the PMO

To describe such forms of humour as

‘misrepresenting” the PMO makes the
PMO look more nidiculous

(B)
(C)
(D) The precedent for such action was set

recently by the chief minister of West
Bengal
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f’r 4
.-.;194* I yuu have: roses growing in your garden, you
CEREE ‘can make a lovely of flowers at home.
(A) bouqutte (B) bucquete -
- (© bouquete (D) hcuqﬁm
195 The of the middle school is a
‘woman of

No-error. |
(D)

’EBH'! :

was*iame* Hﬁarrt:-ﬁ

T )

190, 'I'tie;]r;:}jaye pIa}rcu;l a:gan'ﬁ: I'mt_?};

®

‘Lg.t}ur sm:prlse - we ﬁntt.tl'lﬁ.nngleade;r

i

I '1':"'ﬂ%*ﬂn*sw¢r She.-:t

193 Sludenth parkmg ﬁhuu!d1

R T e ot

(@A) “fined
(©) _t_:q_sﬂ:f,

{B] Fre.e
(D) ; cheap -

CSMBEESIC
- MFJJ,_.’} 3 o e ey -._'._-u.

sk rect-alicrnative out: of 15
ate it bjn.bla‘dkﬁmrig the appmrpn“g )

s:udcnlsr' :
10t be: charged to. buy. p:l[-'k!ll'lg sm:kcrs

e
R L % Rty
CArTEVE ¥ ikl i
s
by

%

- (A) Principles, Principal

(B} Principals, Principal
..{C} Principal, Principle

' (D) Principle, Principals

196. With the changing times, most of the students
have become business-like they are
and want to take only those courses which Lhﬂ}r
find rewarding.

(A) idealistic (B} pragmatic
(C) ~enthusiastic (D)~ partial
S Thlohn’s at institute studying French.
2. They're building school at the end
of our street. .
.: o T they live in United Kingdom
” or somewhere clse ?
a, the, an (B) the, a, an
an, a, the (D) the, an, a

Bﬁ'ér;nﬁus 3 In quesunn nos. 198 to ZH[I out of

e:ltpendltu re (B) ba nkmp[lcy

%& :ar:;lmn}f
Ry
._!"(C_). ?hl:ibl‘.‘.l.'}' (D) miserliness

i
od
l.'.

]
+

aii:-itati(;n (B) suffering
{C)'._- weakness (v sumulation

Iﬂ{}.- The Prime Mmlstf:r goes on the ramparts of the
Rﬂl‘Fﬂn to hoist the National flag.

; I:A ;mmp\vay (B) staircase
LC] parapet (D) scaffold
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